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% 2 b—=R FiE HEFE (21:48)
ERES. 2B L—R GBI AR
B V. BF4. B o = 25 iy
K. i ® @ ® @ ® ) pop:d wE EH HE LY HE BE  EAY
ARz 71 7 8 4 7 61023 6 O 9.8 21.1 26.7 0 3.42 3.487 3.46 5.09 3.566
2528 (MN—#%)| 39 1 2 1 3 2 8 22 0 0 2.5 7.6 10.2| 0| 3.42  3.487| 3.46 5.94  3.582
B-73 (MNGE) 0
(oM—A%) 32 6 6 3 4 4 2 1 6 0 18.7 37.5 46.8| 0| 3.43  3.506| 3.47 4.06  3.547
1 =il BER 0| (zofsci) 0
na 23 0 1 3 0 2 1 7 9 0 0.0 4.3 17.3] 0| 3.42 3.482| 3.47 6.43 3.561
fiRizx 25HA {RERIE 0
497% PEZIN S 0 0 2 3 1 0 1 2 O 0.0 0.0 22.2| 0] 3.47 3.505/ 3.51 5.11 3.570
LB 15 0 0 0O 2 3 8 2 0 O 0.0 0.0 0.0/ 0| 3.41 3.468| 3.48 5.66 3.569
ARz 60 1 510 81115 7 3 O 1.6 10.0 26.6/ 0 3.36 3.453| 3.41 4.85 3.507
1903 (MN—#%)| 33 1 3 6 7 6 7 3 0 0 3.0 12.1 30.3] 0| 3.36 3.453] 3.39 442  3.484
B-44 (MNGE) 0
(Zof—#%)| 272 0 2 4 1 5 8 4 3 0 0.0 7.4 22.2| 0| 3.41  3.489 344 537  3.534
vl BNES RBE 10 (om0
e i0 o 1 3 1 2 1 1 1 O 0.0 10.0 40.0/ 0| 3.36 3.444| 3.38 4.60 3.476
BRix 19HA FRERIG 6 1 0 0 1 1 3 0O O 0| 16.6 16.6 16.6| 0| 3.40 3.474| 3.41 4.66 3.495
617% JEAR 12 1 0 2 1 2 1 2 3 O 8.3 8.3 25.00 0] 3.38 3.469| 3.40 5.41 3.496
LB 14 0 0 2 2 2 8 0 0 O 0.0 0.0 14.2) 0| 3.37 3.458| 3.40 5.14 3.500
ARis 78 13 10 1211 81210 2 0| 16.6 294 44.8 0| 3.34 3.421 3.40 3.98 3.483
2615 (MN—#%)| 51 8 10 8 6 5 8 6 0 0 15.6 35.2 50.9| 0| 3.34 3.421 339 3.74  3.466
A-201 (MNGH#) 0
(ZoM—#%) 27 5 0 4 5 3 4 4 2 0 18.5 18.5 33.3] 0| 3.37 3.458 343 444  3.514
M MHE S 10 ofte®) o
na 24 3 4 1 3 7 0 3 3 O 12.5 29.1 33.3] 0] 3.36 3.424| 3.40 4.41 3.477
frix 26HA FREAIG 4 0 0 1 1 0 2 0 0 O 0.0 0.0 25.0/ 0 3.37 3.449 3.40 4.75 3.480
497% JEAR 10 1. 0 2 0 1 O 4 2 O 10.0 10.0 30.00 O] 3.36 3.447) 3.38 5.60 3.479
LBz 7 0 O 1 1 3 2 0 0 O 0.0 0.0 14.2) 0| 3.40 3.469| 3.43 4.85 3.505
ARis 84 12 12 18 9101011 2 0O 14.2 28.5 50.00 0 3.36 3.420| 3.41 3.91 3.500
1930 (MN—#%)| 45 4 7 9 8 8 5 4 0 0 8.8 24.4 444/ 0/ 336  3.420| 3.39 3.88  3.483
A-168 (MNGH#) 0
(zof—#%)) 34 8 4 8 1 2 4 6 1 0 23.5 35.2 58.8) 0| 3.39  3.452| 344 3.76  3.525
N JKIEG IE— 20 (zoftcH) 5 0 1 1 0 0 1 1 1 0 0.0 20.0 40.0/ 0| 3.37 3.458| 3.39 520  3.487
e 6 0 3 0 1 O 1 0 1 O 0.0 50.0 50.0/ 0| 3.38 3.446| 3.39 4.00 3.482
fRizx 19HA {RERIZ 5 3 0 0 0 1 1 0 O O 60.0 60.0 60.0/ 0| 3.36 3.442| 3.39 2.80 3.465
617% AR 17 1 0 3 2 2 6 3 0 O 5.8 5.8 23.5| 0] 3.36 3.460, 3.40 5.00 3.493
LLIB& 15 2 2 2 5 4 0 0 0 O 13.3 26.6 40.0/ 0| 3.37 3.429| 3.39 3.46 3.465
ARis 4 6 6 7 8 8 4 2 3 0 13.6 27.2 43.1| 0 3.29 3.393| 3.36 3.93 3.465
3213 (MN—#%)| 20 3 4 3 4 3 2 1 0 0 15.0 35.0 50.0, 0| 3.29  3.393] 3.33 3.50  3.438
A-147 (MNGE&) 0
(FoMm—H) 17 2 1 2 4 5 1 0 2 0 11.7 17.6 29.4| 0| 3.36 3.454 3.40 429  3.496
5 HIH BEBE 30 (zoftcH) 7 1 1 2 0 0 1 1 1 0 14.2 28.5 57.1| 0| 3.33  3.444] 336 428  3.463
e 6 0 1 2 3 2 1 5 2 0 0.0 6.2 18.7] 0| 3.31 3.404| 3.34 5.43 3.433
BRIz 32HA FRERIG 11 0 1 2 2 4 0 1 1 2 0.0 7.6  23.00 0| 3.33 3.437| 3.37 4.63 3.470
35i% PEZYN 12 0 0 1 3 2 2 2 2 O 0.0 0.0 8.3] 0/ 3.30 3.412| 3.35 5.58 3.448
LLIB& 13 1 0 2 4 4 0 2 0 O 7.6 7.6 23.00 0] 3.32 3.407| 3.35 4.38 3.442
ARi5 56 3 4101412 5 6 2 O 5.3 12,5 30.3| 0| 3.31 3.399 3.35 4.37 3.457
2821 (MN—#%)| 23 0 1 5 8 5 2 2 0 0 0.0 4.3 260/ 0| 3.31  3.399 334 434  3.434
A-39 (MNGE) 0
(ZOM—A%)| 24 1 2 4 7 3 2 0 0 4.1 12.5 29.1| 0| 3.34  3.415 337 433  3.485
Pig BT 40 (zofte#) 09 2 1 1 0 0 2 2 0 22.2 33.3 44.4| 0| 331  3.413| 334 455  3.442
na 14 1 0 4 1 4 2 2 0 7.1 7.1 35.7| 0] 3.32 3.406| 3.33 5.14 3.430
frix 28HA fREBIE 0
447% PEZYN 27 0 4 6 1 4 2 6 4 0 0.0 14.8 37.00 0] 3.30 3.395| 3.33 5.03 3.427
LLI B 17 2 3 0 3 3 1 5 0 O 11.7 29.4 29.4, 0| 3.28 3.367| 3.31 4.47 3.406
ARis 63 8 614 715 8 3 2 0 12.6 22.2 44.4Y 0 3.28 3.366| 3.36 3.96 3.445
3209 (MN—%) 32 8 3 8 5 5 3 0 0 0 25.0 34.3 59.3| 0| 3.28  3.366/ 3.33 3.15  3.417
A-29 (MNGH) 0
(of—f%) 22 0 3 4 1 7 4 1 2 0 0.0 13.6 31.8) 0| 3.36 3.434 3.40 4.72  3.486
7 B BR 40| ®ofte%) 9 o0 o0 2 1 3 1 2 0 0 0.0 0.0 222| 0| 332 3401 336 500  3.446
Ne 12 1 1 3 2 2 1 1 1 0 8.3 16.6 41.6| 0| 3.32 3.391| 3.35 4.25 3.430
Bz 32HA RERIZ 10 1 3 0 2 0 3 1 0 1 9.0 36.3 36.3 0 3.31 3.406| 3.35 4.00 3.443
377% PEZYN 31 4 7 5 5 4 2 4 0 1 12.5 34.3 50.0/ 0| 3.28 3.371| 3.33 3.64 3.415
L= 15 4 3 3 2 1 1 1 0 O 26.6 46.6 66.6/ 0| 3.27 3.353| 3.33 3.00 3.403
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ERES. 2ESY
# 7. 2T 5. R, # = 238 3E BB BE i
LERES @ @ ® ® @ B ME EAY BE BE LAY

AR 14 1 0 1 0 1 2 8 1 0 7.1 7.1 142 0 6.07

2528 (MN—#%) 11 1 0 0 0 0 2 8 0 O 9.0 9.0 9.0 0 6.27
B-73 (MNGE) 0

Zoft—#) 3 0 0 1 0 1 0 0 1 0 0.0 0.0 333 0 5.33
1 =il BER 0| (zofsci) 0
ma 0
BRIz 25HH AR 0

497% AR 5 0 0 0110 1 2 O 0.0 0.0 0.0 O 6.40

L5 5 0 0 0 0 1 3 1 0 O 0.0 0.0 0.0 O 6.00

ARt 7 01 3120000 0.0 142 57.1 O 3.57

1903 (MN—#%) 5 0 1 1 1 2 0 0 0 0 0.0 20.0 40.0/ 0 3.80
B-44 (MNGH#)| 0

Zoft—#) 2 0 0 2 0 0 0 0 0 O 0.0 0.0 1000/ 0 3.00
B NS RBE 10 (eofem)] o
ma 0
BREX 1984 REE 0

61/% AR 4 0 1 1 1 0 1 0 O O 0.0 25.0 50.0/ O 3.75

L5 2 0 0 0 0 2 0 0 0 O 0.0 0.0 0.0 O 5.00

ARiE 13 1 2 1 2 4 3 000 7.6 230 307 O 4.15

2615 (MN—#%) 9 1 1 1 1 3 2 0 0 0 11.1 22.2 333 0 4.11
A-201 (MNGE) 0

Zoft—#) 4 0 1 0 1 1 1 0 0 0O 0.0 25.0 250/ 0 4.25
3 [2u ) == 10| (RofiGH#) 0

ne 4 2 0 2 0 0 0 O O0 O 50.0 50.0 100.0f O 2.00
BREX 2654 REE 0

49i% AR 4 0 2 1 0 0 1 0 O O 0.0 50.0 75.00 0 3.25

L5 4 0 1 0 1 0 2 0 0 O 0.0 25.0 25.00 0 4.50

ARt 14 1 3 2 2 2 2 0 2 O 7.1 28,5 428 0 4.21

1930 (MN—#%) 7 1 1 2 2 1 0 0 0 O 14.2 28.5 57.1| 0 3.14
A-168 (MNGE) 0

Zoft—#) 4 0 2 0 0 0 1 0 1 0 0.0 50.0 50.0/ 0 4.50

'S JKIEG IE— |20 (oftc#) 3 0 0 0o 1 1 0 1 0 0.0 0.0 0.0 0 6.33
nme 0
ERix 1958 REE 0

617% RN 6 3 2 1 0 0 0 0 O 1 428 714 857 0 1.66

L5 4 0 1 1 1 0 0 1 0 O 0.0 25.0 50.0/ O 4.00

Ak 9 0 112 2 2010 0.0 111 222/ O 4.77

3213 (MN—#%) 3 0 1 1 1 0 0 0 0 O 0.0 333 66.6| 0 3.00
A-147 (MNGH#%) 0

Zofte—#) 3 0 0 0 1 1 1 0 0 0O 0.0 0.0 00/ 0 5.00

5 HIH BEE® 30| ®ofte®)| 3 0o o0 0 0 1 1 0 1 0 0.0 0.0 0.0 0 6.33

ne 3 2 0 0 0 O 1 0 O O 66.6 66.6 66.6/ 0O 2.66

BRix 325 R8I 1 0 0 1.0 O O O O O 0.0 0.0 100.00 O 3.00

35i% AR 1 0 0 0 0 0O OO 1 O 0.0 0.0 0.0 O 8.00

1P 3 0 0 1 1 1 0 O O O 0.0 0.0 33.3] O 4.00

Ak 18 3 2 4 4 2 3 0 0 0 16.6 27.7 50.00 O 3.50

2821 (MN—#%) 10 3 0 3 1 2 1 0 0 0 30.0 30.0 60.0 0 3.20
A-39 (MNG#)| 0

Zoft—f)| 4 0 2 2 0 0 0 0 O 0.0 50.0 50.0/ 0 3.00

Mg BT 40| =oftc#) 4 0 0 1 0 2 0 0 © 0.0 0.0 250, 0 4.75

ne 3 0 O 0O 1.2 0 0 O 0.0 0.0 0.0 O 5.66
ARtz 28HA REE 0

4475% AR 6 0 1 3 2 0 0 0 0 1 0.0 142 57.1] 0 3.16

L5 7 2 2 0 0 2 0 1 0 O 28.5 57.1 57.1) 0 3.28

AR 14 2 2 41 3 01 1 0 142 285 57.1 0 3.71

3209 (MN—f%) 5 1 1 2 0 0 0 1 0 0 20.0 40.0 80.0/ 0 3.20
A-29 (MNGE) 0

Zoft—#) 4 0 1 1 0 1 0 0 1 0 0.0 25.0 50.0/ 0 4.50

7 B BR 40| ®ofte#%) 5 1 0 1 1 2 0 0 0 0 20.0 20.0 40.0/ 0 3.60

ne 1 0 0 1.0 O O O O O 0.0 0.0 100.00 O 3.00

ARt 32HA {28 2 1.0 01 0 0 0 O O 500 500 500 O 2.50

37i% AR 8 2 0 2 1 3 0 0 0 O 25.0 25.0 50.0/ O 3.37

LB 31 0 1 1 0 O 0 O O 33.3 33.3 66.6| 1 2.66
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* 2b—A Fii FETPE (21:48)
ERES. 2ESY L—R 35 5 AR
B V. BF4. B ¥ = 25 iy
R i @ @ @ & ® @ B xE @EH HE LY FHE BE LAY
AR 8 1 0 00 114 1 0 125 125 125 0 6.00
2528 (MN—#) 4 1 0 0 0O O 1 2 0 0 25.0 25.0 250/ 0 5.25
B-73 (MNGE) 0
oft—#%) 4 0 0 0 0 1 0 2 1 0 0.0 0.0 00/ 0 6.75
1 =il BER 0| (zofsci) 0
nme 0
BRIz 25HH AR 0
497% AR 4 0 0 0 0O O 0 2 2 O 0.0 0.0 0.0 O 7.50
LI 0
i 7 1 0 1 4100 0 0 142 142 285 O 3.57
1903 (MN—#%) 5 0 0 1 4 0 0 0 0 O 0.0 0.0 200/ 0 3.80
B-44 (MNGH#%) 0
Zoft—#) 2 1 0 0 0 1 0 0 0 0O 50.0 50.0 50.0/ 0 3.00
A RS BE 10 omewm) o
ne 1 0 0 0 1 0 0O O O O 0.0 0.0 0.0 O 4.00
BRix 1958 R 0
61/% AR 2 0 0 0 0 2 0 0 0 O 0.0 0.0 0.0 O 5.00
L5 2 0 0 0 1 0 1 0 0 O 0.0 0.0 0.0 O 5.00
Al 8 0 4 2011000 0.0 50.0 75.0 O 3.12
2615 (MN—#%) 5 0 2 2 0 0 1 0 0 O 0.0 40.0 80.0/ 0 3.20
A-201 (MNGE) 0
Zoft—#) 3 0 2 0 0 1 0 0 0 0O 0.0 66.6 66.6| 0 3.00
M MHE S 10 ofte®) o
ne 3 0 0 1 0 1 0 1 0 O 0.0 0.0 33.3] O 5.00
BRIz 265H REE 0
497% AR 2 1 0 1 0 0 0 0 0 O 50.0 50.0 100.0 O 2.00
LI 0
ARt 11 3 2 1 3 01 1 0 0 27.2 454 545 0 3.18
1930 MN—#) 7 1 1 1 2 0 1 1 0 0 14.2 28.5 42.8) 0 3.85
A-168 (MNGE) 0
Zoft—#) 2 1 1 0 0 0 0 0 0 0O 50.0  100.0  100.0| 0 1.50
N JKIEG IE— 20 (zoftcH) 2 1 0 0 1 0 0 0 50.0 50.0 50.0, 0 2.50
nmea 2 0 0 0 O 0 0.0 0.0 0.0 O 5.50
ERIx 19HH REE 0
61m% AR 2 0 1 0 0 0 1 0 0 O 0.0 50.0 50.0/ O 4.00
LI 0
Ak 6 1.1 3 0010 O O 166 333 833 O 3.00
3213 (MN—#%) 5 1 1 2 0 0 1 0 0 O 20.0 40.0 80.0/ 0 3.00
A-147 (MNGE) 0
(BDAt—Hi%) 0
5 HIH BEEEL 30 (o) 1 0 0 1 0 0 0 0 0 0.0 0.0  100.0, 0 3.00
nmea 31 0 0 1 0 1 0 O 33.3 33.3 33.3] O 3.66
Bz 321 AR 0
35i% AR 1 0 0 1 0 0 0 O 0 O 0.0 0.0 100.00 O 3.00
L5 2 0 1 0 0 0 1 0 O O 0.0 50.0 50.0/ O 4.00
AR 4 0 0 1 0 21 00O 0.0 0.0 250 O 4.75
2821 (MN—#%) 1 0 0 0 0O 0O 1 0 0 O 0.0 0.0 00/ 0 6.00
A-39 (MNGH#)| 0
(oft—#%) 2 0 0 1 0 1 0 0 0 O 0.0 0.0 50.0/ 0 4.00
MiE BRI 40| (=otGE) 1 0 0 0 0 0 0 0 0 0.0 0.0 00 0 5.00
mea 4 0 0 0O 1 0 1 0 2 0.0 0.0 0.0 O 6.50
ARtz 28HA REBIE 0
4475% AR 2 0 0 01 0 0 0 1 O 0.0 0.0 0.0 O 6.00
L5 2 0 0 0 0 2 O O 0 O 0.0 0.0 0.0 O 5.00
AR 4 1. 0 11 01 0 0 O 250 25.0 500 O 3.50
3209 MN—#) 3 1 0 0 1 0 1 0 0 0 33.3 33.3 333 0 3.66
A-29 (MNGE#) 0
(ofe—h%)) 1t 0 0O 1 0 0O 0O 0 0 O 0.0 00 1000/ 0 3.00
7 BR BIR 40 (eoftem) o
mea 1 0 0 0 0 0O O1 0O 0.0 0.0 0.0 O 7.00
AR 3284 REBIE 0
37i% R 0
LB 2 1 0 1 0 0 0 0 0 O 50.0 50.0 100.00 O 2.00
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